MVMF SCHOLARSHIPS & PROJECTS SUPPORTED August 1, 1990 - July 31, 1991		
Heartworm Public Education Project 5/8/91	\$ 5,205.00	
TOTAL CONTRIBUTIONS '90 - '91		\$ 5,205.00
<u>August 1, 1991 - July 31, 1992</u>		
AVMA Foundation 9/4/91 for Congressional Fellowships	\$ 1,272.00	
Margaret Pomeroy Scholarship Award 11/5/91 to Linda Heaton	1,000.00	
Agri-Education 3/23/92 to develop grade school program	1,000.00	
Minnesota Veterinary Historical Museum 3/23/92 to publish book on veterinary medicine in MN	500.00	
University of Minnesota 3/23/92 for pet overpopulation workshop	500.00	
TOTAL CONTRIBUTIONS '91-'92		\$ 4,272.00
August 1, 1992 - July 31, 1993		
MVMA Surgery Suite 10/28/92 pet overpopulation public education	\$ 2,500.00	
Cedar Riverside People's Center 10/28/92 for the Pet Center	220.00	
Margaret Pomeroy Scholarship Award 2/10/93 to Dougals A. Fijas	1,000.00	
Plexus (CVM year book) 6/24/93	<u>370.00</u>	
TOTAL CONTRIBUTIONS '92-'93		\$ 4,090.00
<u>August 1, 1993 - July 31, 1994</u>		
Minnesota Veterinary Historical Museum 8/11/93 for book publication	\$ 1,000.00	
University of Minnesota 1/6/94 Vance DeMong Lectureship	1,000.00	
Margaret Pomeroy Scholarship 3/24/94 Jami R. Stromberg	1,000.00	
Spannaus Scholarship 3/24/94 Amy K. Heinecke	1,000.00	
TOTAL CONTRIBUTIONS '93-'94		\$ 4,000.00

August 1, 1994 - July 31, 1995		
Minnesota 4-H Foundation 9/22/94	\$ 825.00	
Minnesota Agriculture Awareness 9/22/94	50.00	
MVMA 9/22/94 for Lyme Disease Awareness Project	1,000.00	
Foundation for Responsible Animal Care 9/22/94	1,000.00	
University of Minnesota Foundation 9/22/94 for Animal Hygiene Congress	500.00	
University of Minnesota 12/20/94 Vance DeMong Lectureship	1,000.00	
Margaret Pomeroy Scholarship 5/3/95 Tracy Busalacchi	1,500.00	
Spannaus Scholarship 5/3/95 Susan L. Hawes	<u>1,500.00</u>	
TOTAL CONTRIBUTIONS '94-'95		\$ 7,375.00

<u>August 1, 1995 - July 31, 1996</u>	
Society for Theriogenology 8/29/95 expenses of visiting Latvian veterinarians	\$ 500.00
Vance De4Mong Lectureship 3/15/96	1,000.00
Department of Small Animal Clinical Sciences - Research Project - Evaluation of a micro-sample DNA extraction kit for canine use 5/3/96	1,000.00
MVMA Award - Joint sponsorship with MVMA for senior student leadership award Kathleen R. Cleary 5/30/96	500.00
Agricultural Awareness Days U of M Animal Science Department 5/3/96	50.00
Speaker sponsorship at 1997 MVMA Annual Meeting 7/31/96	500.00
AVM Foundation to support Congressional Fellowships 5/3/96	750.00
MNAG 2010 - educational grant 5/3/96	250.00
SCAVMA "Makin' Tracks Fun Run" 5/3/96	50.00
KTCA to sponsor "Wishbone" program 5/3/96	750.00
MN Agriculture in the Classroom - 5/3/96 an educational program through the Department of Agriculture	50.00
FFA (Future Farmers of America) 5/3/96	100.00
Food Animal Scholarship 5/30/96 Michael G. Mickelson	1,500.00
Companion Animal Scholarship 5/30/96 James J. Delker	1,500.00
Spannaus Scholarship 5/30/96 Shellie A. Stulken	1,500.00
Margaret Pomeroy Scholarship 5/30/96 Kimberly J. Rowley	1,500.00
TOTAL CONTRIBUTIONS '95-'96	\$11,500.00

August 1, 1996 - July 31, 1997	
MN 4-H Foundation 5/2/97	1,000.00
U of M Foundation (Richard Goodrich Animal Science Fund) 5/2/97	250.00
AVMA - Congressional Science Fellowships 5/2/97	1,000.00
Twin Cities Public Television 5/2/97	750.00
University of Minnesota Foundation 5/2/97 Two International Preceptorships	1,000.00
MN Agriculture in the Classroom 5/2/97	250.00
Boy Scouts Indianhead Council - Veterinary Explorer Post 5/2/97	100.00
Veterinary Teaching Hospital - Reference Library 5/2/97	100.00
Minnesota Veterinary Medical Association 5/2/97 Sponsor Nine States Veterinary Conference Speaker	1,000.00
Minnesota Veterinary Medical Association 5/2/97 Sponsor Annual Meeting Speaker 1998	1,000.00
MVMA Co-sponsor Healthy Heart Campaign 5/2/97	1,000.00
MVMA Award 5/29/97 Joint MVMA/Foundation award to senior student for leadership Spring K. Halland	500.00
Food Animal Scholarship 5/29/97 Scott Thomas Lang	2,000.00
Companion Animal Scholarship 5/29/97 Sarah Louise Gillings	2,000.00
Spannaus Scholarship 5/29/97 Sharon McCutcheon	2,000.00
Margaret Pomeroy Scholarship 5/29/97 Krishawn Kaibel	2,000.00
Technician Scholarship - Ridgewater College 5/19/97 Todd Gray	500.00
Technician Scholarship - Ridgewater College 5/19/97 Angela Miner	500.00
Technician Scholarship - MIM 7/31/97 Linda Coons	500.00
Technician Scholarship - MIM 7/31/97 Jody Barlow	500.00
TOTAL CONTRIBUTIONS '96-'97	\$17,950.00

<u>August 1, 1997 - July 31, 1998</u>	
Margaret Pomeroy Scholarship 6/4/98 James Meiners	\$2500
Spannaus Scholarship 6/4/98 Jennifer Roberts	\$2500
Food Animal Scholarship 6/4/98 Derek Daniels	\$2500
Companion Animal Scholarship 6/4/98 Jill Lurye	\$2500
MVMA Award 6/4/98 Peter Bowie	\$1000
Technician Scholarship - Ridgewater College 5/18/98 Peter Jaekel	\$1000
Technician Scholarship - Ridgewater College 5/18/98 Susan Burrell	\$1000
Technician Scholarship – MIM 5/18/98	\$1000
Technician Scholarship – MIM 5/18/98	\$1000
Minnesota 4-H Foundation 5/18/98	\$1000
AVMA Congressional Science Fellowship 5/18/98	\$1000
Twin Cities Public Television 5/18/98 To sponsor the Wishbone program	\$1000
University of Minnesota Foundation 5/18/98 To sponsor three international preceptorships	\$1500
MVMA Annual Meeting Speaker 5/18/98 Continuing Education speaker for veterinarians	\$2000
Healthy Heart Campaign 5/18/98 Matching grant for public education program	\$1000
State Fair Surgery Suite 5/18/98 to draw down the cost of building	\$2500
U of M Class of 1999 Yearbook 5/18/98	\$100
Minnesota Veterinary Historical Museum 5/18/98	\$1000
Minnesota FFA Foundation 5/18/98	\$100
TOTAL CONTRIBUTIONS '97-'98	\$28,700

August 1, 1998 - July 31, 1999	
Margaret Pomeroy Scholarship 5/14/99 Gwen Rebecca Zupanich	\$2500
Spannaus Scholarship 5/14/99 Kerrie Jo Burns	\$2500
Companion Animal Scholarship 5/14/99 Lori Bueling Ballinger	\$2500
Food Animal Scholarship 5/14/99 Krishawn Mary Kaibel	\$2500
MVMA Award 5/14/99 Adrienne Eleanor Conner MacLeod	\$2500
James O. Hanson CE 5/14/99 Dr. Rolfe Radcliffe	\$2500
Technician Scholarship-Ridgewater 5/14/99 Renee Marti	\$1000
Technician Scholarship-Ridgewater 5/14/99 Tim Lebbing	\$1000
Technician Scholarship-MIM 5/14/99 Deanna Richards	\$1000
Technician Scholarship-MIM 5/14/99 Ann Clark	\$1000
International Preceptorship 5/14/99 Sara Rose Stai	\$1000
Continuing Education, sponsor a SA speaker @ MVMA mtg. and dry erase board for conference room 5/14/99	\$3000
MN Veterinary Historical Museum 5/14/99	\$1000
AVMF Congressional Fellowships 5/14/99	\$1000
FFA 5/14/99	\$ 500
4-H 5/14/99	\$ 500
MN Ag in the Classroom	\$ 250
Wildlife Rehabilitation Center 5/14/99	\$2000
MN Farm Bureau Federation 5/14/99	\$ 250
Wishbone 5/14/99	\$1000
TOTAL CONTRIBUTIONS '98-'99	\$29,500

August 1, 1999 – July 31, 2000	
Wildlife Rehabilitation Clinic	\$2,000
Minnesota Veterinary Historical Museum	\$1,000
SCAVMA-	\$2,000
MVMA Annual Meeting Speaker sponsor = \$3,000 Lab Coat Project = \$1,500	\$4,500
MN 4-H Foundation	\$ 500
Minnesota FFA Foundation	\$ 500
American Veterinary Medical Foundation Congressional Fellowship Program	\$1,000
KTCA – Twin Cities Public Television	\$1,500
MN Ag in the Classroom	\$ 250
Kristine Maroney (MIM Technician Scholarship)	\$1,000
Juli Korba (MIM Technician Scholarship)	\$1,000
Stephanie Breer (Ridgewater College Technician Scholarship)	\$1,000
Sara Hendrickson (Ridgewater College Technician Scholarship)	\$1,000
Alyssa Erlandson (Margaret Pomeroy Scholarship)	\$2,500
Michael Estrin (Spannaus Scholarship)	\$2,500
Sara Rose Stai (Food Animal Scholarship)	\$2,500
Annalisa Prahl (Companion Animal Scholarship)	\$2,500
Dr. Terence Nagle (James O. Hanson Continuing Education Scholarship)	\$2,500
Amy Buckmeier (MVMA Award for Leadership)	\$2,500
Jon Sundal, Charity Arens, Spencer Wayne (International Preceptorships)	\$1,500 – 3 @ \$500
TOTAL CONTRIBUTIONS '99-'00	\$33,750

August 1, 2000 – July 31, 2001	
Large Animal State Fair Exhibit	\$5,000
White Coat Ceremony	\$1,500
MN Ag in the Classroom	\$ 200
Minnesota Veterinary Historical Museum	\$ 500
MVMA Annual Meeting Speaker sponsor	\$2,500
MN 4-H Foundation	\$ 500
Minnesota FFA Foundation	\$ 500
American Veterinary Medical Foundation Congressional Fellowship Program	\$1,000
Cedar Riverside People's Center	\$1,500
Violence Center	\$ 500
Jamie Strouf (MIM Technician Scholarship)	\$1,000
Katie M. Thomas (MIM Technician Scholarship)	\$1,000
Stacy Middendorf (Ridgewater College Technician Scholarship)	\$1,000
Christy Abel (Ridgewater College Technician Scholarship)	\$1,000
Heather Bauer (Margaret Pomeroy Scholarship)	\$2,500
Laura Seibert (Spannaus Scholarship)	\$2,500
Nathan Marti (Food Animal Scholarship)	\$2,500
Heather Yuill (Companion Animal Scholarship)	\$2,500
Dr. Nancy Vetscher (James O. Hanson Continuing Education Scholarship)	\$2,500
Carol Ormond (MVMA Award for Leadership)	\$2,500
Richelle Ackerman, JoAnn Khaleel, Rachel Preston (International Preceptorships)	\$1,500 – 3 @ \$500
TOTAL CONTRIBUTIONS 2000-'01	\$34,200

August 1, 2001 – July 31, 2002	
Miracle of Birth Center Exhibit	\$5,000
Minnesota FFA Foundation	\$500
MN 4-H Foundation	\$500
Minnesota Veterinary Historical Museum	\$1,000
Production Animal Medicine Club	\$800
MVMA Annual Meeting Speaker Sponsor	\$3,000
Cedar Riverside People's Center	\$1,800
Ridgewater Veterinary Technician Equipment	\$3,000
Lisa McCarger (Margaret Pomeroy Scholarship)	\$2,500
Heather Bauer (Spannaus Scholarship)	\$2,500
Mandy Harms (Companion Animal Scholarship)	\$2,500
Charles Haley (Food Animal Scholarship)	\$2,500
Heather Kaese (James O. Hanson CE Scholarship)	\$2,500
Thomas Schuld (MVMA Leadership Award)	\$2,500
Marcus Johansen, Amanda Bruce, Susan Detmer (International Preceptorships)	\$1,500 – 3 @ \$500
Ridgewater College	\$1,500
Argosy College	\$1,500
Sara Williams (Public Health Scholarship)	\$1,500
TOTAL CONTRIBUTIONS 2001-'02	\$36,600

August 1, 2002 – July 31, 2003	\$6,000
Large Animal State Fair Exhibit	\$6,000
Minnesota FFA Foundation	\$ 500
MN 4-H Foundation	\$ 500
Minnesota Zoo for National Zoo Veterinarians Conference	\$1,000
Small Animal State Fair Exhibit	\$1,000
MN Ag in the Classroom	\$ 250
MN Agricultural Leadership Council	\$ 500
AVMF Congressional Fellowship	\$1,000
Minnesota Veterinary Historical Museum	\$1,000
MVMA Annual Meeting Speaker Sponsor	\$3,000
Kari Ekenstedt (Margaret Pomeroy Scholarship)	\$3,000
Erica Moore (Spannaus Scholarship)	\$3,000
Kari Lunsford (Companion Animal Scholarship)	\$3,000
Charles Johnson (Food Animal Scholarship)	\$3,000
Jennifer Sergeeff (James O. Hanson CE Scholarship)	\$3,000
Beth Coons (MVMA Leadership Award)	\$2,500
Kate Cutting (Public Health Scholarship)	\$3,000
Jodi Carlson, Karen Lorch, Erika Olson (International Preceptorships)	\$1,500 – 3 @ \$500
Ridgewater College Technician Scholarships	\$2,000
Argosy College Technician Scholarships	\$2,000
Globe College Technician Scholarships	\$2,000
TOTAL CONTRIBUTIONS 2002-'03	\$42,750

August 1, 2003 – July 31, 2004	
State Fair Miracle of Birth Center	\$6,000
Carl Osborne Endowed Chair Request	\$5,000
Minnesota FFA Foundation	\$ 500
MN 4-H Foundation	\$ 500
Small Animal State Fair Exhibit	\$1,000
MN Ag in the Classroom	\$ 250
AVMF Congressional Fellowship	\$1,000
Minnesota Veterinary Historical Museum	\$1,000
MVMA Annual Meeting Speaker Sponsor	\$3,000
Kara Nelsen (Margaret Pomeroy Scholarship)	\$3,000
Conni Weshausen (Spannaus Scholarship)	\$3,000
Lisa McCargar (Companion Animal Scholarship)	\$3,000
Jessica Hammell (Food Animal Scholarship)	\$3,000
Dr. Richard Scroggin (James O. Hanson CE Scholarship)	\$3,000
Noah Barka (MVMA Leadership Award)	\$2,500
Meghan Cheyne (Public Health Scholarship)	\$3,000
Luther Groth, Alexis Wongchaowart, Dana Beckler (International Preceptorships)	\$3,000 – 3 @ \$1,000
Ridgewater College Technician Scholarships	\$2,000
Ryan G. Nicols, Emilee Searles (Argosy College Vet Tech Scholarships)	\$2,000
TOTAL CONTRIBUTIONS 2003-'04	\$45,750

August 1, 2004 – July 31, 2005	47.000
Large Animal State Fair Exhibit	\$5,000
Minnesota FFA Foundation	\$ 500
MN 4-H Foundation	\$ 500
Small Animal State Fair Exhibit	\$1,000
MN Ag in the Classroom	\$ 250
AVMF Congressional Fellowship	\$3,000
Minnesota Veterinary Historical Museum	\$1,000
B.A.R.T	\$2,000
MVMA Annual Meeting Speaker Sponsor	\$3,000
Sarah Swenson (Margaret Pomeroy Scholarship)	\$3,000
Jonna Swanson (Spannaus Scholarship)	\$3,000
Kari Ekenstedt (Companion Animal Scholarship)	\$3,000
Kara Schultz (Food Animal Scholarship)	\$3,000
Michael Estrin (James O. Hanson CE Scholarship)	\$3,000
Donnell Hofeld (MVMA Leadership Award)	\$2,500
Jenny Wilson (Public Health Scholarship)	\$3,000
Katherine Angle, Katja Wucherer, Farnham, Swanson (International Preceptorships)	\$2,400 – 4 @ \$600
Ridgewater College Technician Scholarships	\$2,000
Argosy College Vet Tech Scholarships	\$2,000
Globe College Technician Scholarships	\$2,000
Plymouth, Duluth, Rochester Technician Scholarships	\$4,000
TOTAL CONTRIBUTIONS 2004-'05	\$49,150

August 1, 2005 – July 31, 2006	47.000
Large Animal State Fair Exhibit	\$5,000
Minnesota FFA Foundation	\$ 500
MN 4-H Foundation	\$ 500
Small Animal State Fair Exhibit	\$1,000
MN Ag in the Classroom	\$ 250
AVMF Congressional Fellowship	\$1,000
Minnesota Veterinary Historical Museum	\$1,000
Miracle of Birth New Building Support	\$10,000
MVMA Annual Meeting Speaker Sponsor	\$3,000
Stephanie Kennedy (Margaret Pomeroy Scholarship)	\$3,000
Jennifer Nehring (Spannaus Scholarship)	\$3,000
Allison Newman (Companion Animal Scholarship)	\$3,000
Nathan Eversman (Food Animal Scholarship)	\$3,000
Luanne Hunt (James O. Hanson CE Scholarship)	\$3,000
Jennifer Schurrer (MVMA Leadership Award)	\$2,500
Heather Swan (Public Health Scholarship)	\$3,000
International Preceptorships	\$2,500
Ridgewater College Technician Scholarships	\$2,000
Argosy College Vet Tech Scholarships	\$2,000
Globe College Technician Scholarships	\$2,000
Plymouth, Duluth, Rochester Technician Scholarships	\$4,000
TOTAL CONTRIBUTIONS 2005-'06	\$55,250

<u>August 1, 2006 – July 31, 2007</u>		
Large Animal State Fair Exhibit	\$5,000	
Minnesota FFA Foundation	\$1,100	
MN 4-H Foundation	\$1,000	
Small Animal State Fair Exhibit	\$1,000	
MN Ag in the Classroom	\$ 500	
AVMF Congressional Fellowship	\$1,000	
Minnesota Veterinary Historical Museum	\$2,500	
Miracle of Birth New Building Support	\$5,000	
MVMA Annual Meeting Speaker Sponsor	\$3,000	
MVMA Poster Session at Annual Meeting Award	\$ 300	
BART	\$7,500	
Matthew Allerson (Margaret Pomeroy Scholarship)	\$3,000	
Leah Renne (Spannaus Scholarship)	\$3,000	
Erika Mueller (Companion Animal Scholarship)	\$3,000	
Janice Husman (Food Animal Scholarship)	\$3,000	
Tsuyoshi Murakami, Jennifer Granick	\$3,000 – 2 @	
1,500 (James O. Hanson CE Scholarship)		
Kelly Griffin	\$2,500	
(MVMA Leadership Award) Kathlyn Coughlan (Public Health Scholarship)	\$3,000	
Erica Keller, Joanna Schmit, Annie Macnab, Dominic Tauer, Joanna Ayers, Kirsten Caskey (International Externship Awards)	\$2,500	
Ridgewater College Technician Scholarships	\$2,000	
Argosy College Vet Tech Scholarships	\$2,000	
Rochester RCTC, Duluth University Scholarships	\$2,000	
MN School of Business Tech. Scholarships	\$1,000	
TOTAL CONTRIBUTIONS 2006-'07	\$57,900	

August 1, 2007– July 31, 2008	
Large Animal State Fair Exhibit	\$5,000
Minnesota FFA Foundation	\$2,500
MN 4-H Foundation	\$2,500
Small Animal State Fair Exhibit	\$3,000
Minnesota Veterinary Historical Museum	\$2,500
Miracle of Birth New Building Support	\$5,000
MVMA Annual Meeting Speaker Sponsor	\$3,000
MVMA Poster Session at Annual Meeting Award	\$ 300
BART	\$5,000
Mackenzie Jones	\$3,000
(Margaret Pomeroy Scholarship) Matthew Allerson	\$3,000
(Spannaus Scholarship)	φ3,000
Stephanie Kennedy (Companion Animal Scholarship)	\$3,000
Daniel Hagman (Food Animal Scholarship)	\$3,000
Stacy Tinkler (James O. Hanson CE Scholarship)	\$3,000
Mary McKie (MVMA Leadership Award)	\$2,500
Jennifer Webeck (Public Health Scholarship)	\$3,000
Samantha Winkels, Fonda Lewis, Carissa Schloesser, Lena Detar, Jenna Webeck (International Externship Awards)	\$2,500
Ridgewater College Technician Scholarships	\$2,000
Argosy College Vet Tech Scholarships	\$2,000
Rochester RCTC, Duluth University Scholarships	\$1,000
MN School of Business Tech./Globe Scholarships	\$1,000
TOTAL CONTRIBUTIONS 2007-'08	\$57,800

<u>August 1, 2008 – July 31, 2009</u>		
Large Animal State Fair Exhibit	\$10,000	
Minnesota FFA Foundation	\$2,500	
MN 4-H Foundation	\$2,500	
MN Dog Bite Prevention Program	\$1,000	
Cost of Compassion Brochure	\$1,000	
Small Animal State Fair Exhibit	\$5,000	
Miracle of Birth New Building Support	\$5,000	
MN Ag in the Classroom	\$ 500	
MVMA Annual Meeting Speaker Sponsor	\$3,000	
MVMA Poster Session at Annual Meeting Award	\$ 400	
BART	\$5,000	
Molly Jordan (Margaret Pomeroy Scholarship)	\$3,000	
Brandi St. Albin (Spannaus Scholarship)	\$3,000	
Sarah Simonson (Companion Animal Scholarship)	\$3,000	
Jason Anderson (Food Animal Scholarship)	\$3,000	
Janet Olson (James O. Hanson CE Scholarship)	\$3,000	
Ian Rubinoff (MVMA Leadership Award)	\$2,500	
Andrea Johnston (Public Health Scholarship)	\$3,000	
Nathan Schaefer, Aaron Nystrom, Elizabeth Arnold, Jaime Shriver (International Externship Awards)	\$2,500	
Ridgewater College Technician Scholarships	\$2,000	
Argosy College Vet Tech Scholarships	\$2,000	
Rochester RCTC, Duluth University Scholarships TOTAL CONTRIBUTIONS 2008-'09	\$1,000 \$58,900	

<u>August 1, 2009 – July 31, 2010</u>			
VeTouch	\$ 1,000		
Minnesota FFA Foundation	\$ 2,500		
MN 4-H	\$ 2,500		
MN Dog Bite Prevention Program	\$ 1,000		
MVMA Small Animal Welfare Committee	\$ 1,000		
Small Animal State Fair Exhibit	\$ 5,000		
Miracle of Birth New Building Support	\$10,000		
MN Ag in the Classroom	\$ 500		
MVMRC	\$ 4,650		
MVMA Annual Meeting Speaker Sponsor	\$ 3,000		
MVMA Poster Session at Annual Meeting Award	\$ 400		
BART	\$ 2000		
Molly Jordan (Margaret Pomeroy Scholarship)	\$ 3,000		
Brandi St. Albin (Spannaus Scholarship)	\$ 3,000		
Sarah Simonson (Companion Animal Scholarship)	\$ 3,000		
Jason Anderson (Food Animal Scholarship)	\$ 3,000		
Dr. Janet Olson (James O. Hanson CE Scholarship)	\$ 3,000		
Ian Rubinoff (MVMA Leadership Award)	\$ 2,500		
Andrea Johnston (Public Health Scholarship)	\$ 3,000		
Nathan Schaefer, Aaron Nystrom, Elizabeth Arnold, Jaime Shriver (International Externship Awards)	\$ 2,500		
Ridgewater College Technician Scholarships	\$ 2,000		
Argosy College Vet Tech Scholarships	\$ 2,000		
Rochester RCTC	\$ 1,000		
TOTAL CONTRIBUTIONS 2009-'10	\$62,550		

August 1, 2010 – July 31,	2011
---------------------------	------

TOTAL CONTRIB		\$75,950
Argosy College Vet Tech Rochester RCTC, Duluth	-	\$ 2,000 \$ 1,000
Ridgewater College Tech		\$ 2,000
Lorna Reichl	(James O. Hanson CE Scholarship)	\$ 3,000
Stephanie Yendell	(Public Health Scholarship)	\$ 3,000
Anna Michael	(MVMA Leadership Award)	\$ 2,500
Katie Kitchen	(MVM Foundation VHA Memorial Scholarship)	\$ 1,000
Bridgette Hemmesch	(Food Animal Scholarship)	\$ 3,000
Ellen Petermeier (Compa	anion Animal Scholarship)	\$ 3,000
Andrew Carver	(Spannaus Scholarship)	\$ 3,000
Alexander Primus	(Margaret Pomeroy Scholarship)	\$ 3,000
MVMRC		\$ 4,500
MVMA MOBC		\$12,500
MN Veterinary Historical	l Museum	\$ 1,000
Dog Bite Prevention Prog	gram	\$ 200
MN Ag in the Classroom		\$ 750
Video Project Task Force		\$ 4,000
4-H Sponsorship Request		\$ 2,500
MVMA Surgery Suite		\$ 5,000
MVMF Development Co	mmittee for MVMA Seminar Sponsorship	\$ 1,500
MN VPMN		\$ 3,000
Vet Camp		\$ 5,000
CVM International Extern	nship Travel Grants	\$ 1,500
MN FFA Foundation		\$ 3,000
MVMA Continuing Educ	eation Committee	\$ 3,000
Small Animal Welfare Co	ommittee	\$ 1,000
SCAVMA Grant for Stud	lent Rep position	\$ 1,000

August 1, 2011 – July 31, 2012

TOTAL CONTRIBUTIONS 2011 – '12	\$77,900
Globe Education Network Scholarship	\$ 1,000
Rochester RCTC	\$ 1,000
Argosy College Veterinary Technician Scholarships (2 @ \$1,000)	\$ 2,000
Ridgewater College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Jenny Cho-MacSwain (James O. Hanson CE Scholarship)	\$ 3,000
Thyra Bierman (Public Health Scholarship)	\$ 1,500
Jaimi Johnson (MVMA Leadership Award)	\$ 2,500
Amber Hazel (MVM Foundation VHA Memorial Scholarship)	\$ 1,000
Matt Sturos (Food Animal Scholarship)	\$ 3,000
Jaimi Johnson (Companion Animal Scholarship)	\$ 3,000
Paul Syverson (Spannaus Scholarship)	\$ 3,000
Casey Rabbe (Margaret Pomeroy Scholarship)	\$ 3,000
B. A. R. T.	\$ 7,500
MVMRC	\$ 3,400
MVMA MOBC	\$12,500
MN Veterinary Historical Museum	\$ 1,000
Animal Care Foundation	\$ 1,000
SIRVS (Student Initiative for Reservation Veterinary Services)	\$ 1,000
4-H Sponsorship Request	\$ 2,500
MVMA Surgery Suite	\$ 5,000
Production Animal Medicine Club – Meat & Greet Event	\$ 500
MN VPMN	\$ 1,500
Vet Camp	\$ 5,000
CVM Externship Travel Grants	\$ 1,500
MN FFA Foundation	\$ 3,000
MVMA Continuing Education Committee	\$ 4,500
Small Animal Welfare Committee	\$ 1,000
Grant for Student Representative position	\$ 1,000

<u>August 1, 2012 – July 31, 2013</u>	
Grant for Student Representative position	\$ 1,000
Small Animal Welfare Committee	\$ 1,500
MVMA Continuing Education Committee	\$ 4,500
MN FFA Foundation	\$ 3,000
CVM Externship Travel Grant	\$ 500
VetCamp	\$ 6,000
MN Veterinary Practice Managers Network	\$ 2,000
SCAVMA	\$ 4,750
MVMA Surgery Suite	\$ 5,000
4-H Sponsorship Request	\$ 2,500
SIRVS (Student Initiative for Reservation Veterinary Services)	\$ 1,500
MN State Fair Foundation	\$ 250
MN Veterinary Historical Museum	\$ 1,000
MVMA MOBC	\$12,500
MVMRC	\$ 2,000
Andrew Kryzer (Margaret Pomeroy Scholarship)	\$ 3,000
Thyra Bierman (Margaret Pomeroy Scholarship)	\$ 3,000
Mitch Bellrichard (Margaret Pomeroy Scholarship)	\$ 3,000
Kami Vickerman (Spannaus Scholarship)	\$ 3,000
Kara Michael Carmody (Companion Animal Scholarship)	\$ 3,000
Kelsey Ness (Food Animal Scholarship)	\$ 3,000
Kara Michael Carmody (MVM Foundation VHA Memorial Scholarship)	\$ 1,000
Erik Holtze (MVMA Leadership Award)	\$ 2,500
Daniel Botting (Public Health Scholarship)	\$ 3,000
Susan Gale (James O. Hanson CE Scholarship)	\$ 3,000
Briana Hallman (Dr. Tom Bloom Memorial Scholarship)	\$ 1,000
Ridgewater College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Argosy College Veterinary Technician Scholarships (2 @ \$1,000)	\$ 2,000
Rochester RCTC	\$ 1,000
Globe Education Network Scholarship	\$ 1,000
TOTAL CONTRIBUTIONS 2012 – '13	\$82,500

August 1, 2013 – July 31, 2014		
Grant for Student Representative position	\$ 500	
CVM Production Animal Medicine Club	\$ 1,000	
MVMA Continuing Education Committee	\$ 4,500	
MN FFA Foundation	\$ 3,000	
SCAVMA – Dog Olympics	\$ 2,000	
VetCamp	\$ 5,000	
MN Veterinary Practice Managers Network	\$ 3,000	
SCAVMA – SAVMA Symposium	\$ 5,000	
MVMA Surgery Suite	\$ 5,000	
4-H Sponsorship Request	\$ 3,000	
SIRVS (Student Initiative for Reservation Veterinary Services)	\$ 1,500	
MN State Fair Foundation	\$ 250	
MN VBMA	\$ 500	
MN Veterinary Historical Museum	\$ 1,000	
BART	\$ 7,500	
MVMA MOBC	\$12,500	
MVMRC	\$ 1,500	
Alisa Stejskal (Arrowhead Scholarship)	\$ 3000	
Tim Mayerhofer (Margaret Pomeroy Scholarship)	\$ 3,500	
Mitch Bellrichard (Spannaus Scholarship)	\$ 3,500	
Graham Engle (Companion Animal Scholarship)	\$ 3,500	
Amy Dahlke (Food Animal Scholarship)	\$ 3,500	
Nicholas Mayer (MVM Foundation VHA Memorial Scholarship)	\$ 1,000	
Allison Pace (MVMA Leadership Award)	\$ 5,000	
Thyra Bierman (Public Health Scholarship)	\$ 3,500	
Adrienne Schucker (James O. Hanson CE Scholarship)	\$ 3,500	
Abigail Wirt (Dr. Tom Bloom Memorial Scholarship)	\$ 1,500	
Ridgewater College Technician Scholarships (2 @ \$1,000)	\$ 2,000	
Argosy College Veterinary Technician Scholarships (2 @ \$1,000)	\$ 2,000	
Rochester RCTC (2 @ \$1,000)	\$ 2,000	
Globe Education Network Scholarship (2 @ \$1,000)	\$ 2,000	
TOTAL CONTRIBUTIONS 2013 – '14	\$96,250	

<u>August 1, 2014 – July 31, 2015</u>	
SCAVMA – SAVMA Symposium	\$ 5,000
SCAVMA – Dog Olympics	\$ 2,000
Student Initiative for Reservation Vet. Service (SIRVS)	\$ 2,000
MVMA/MVMF Student Rep. Position	\$ 500
VetCamp	\$ 5,000
STEM Bunnies	\$ 1,000
MVMA Surgery Suite	\$ 5,000
MVMA Continuing Education Committee	\$ 4,500
MN FFA Foundation	\$ 3,000
4-H Sponsorship Request	\$ 3,000
Little Canada Veterans Memorial	\$ 1,000
MN VPMN	\$ 3,000
MVMRC	\$ 2,525
Leech Lake Legacy	\$ 3,000
U of M – Travel Grants	\$ 3,000
MN Turkey Growers Association	\$ 1,000
MVMA MOBC	\$12,500
BART	\$ 8,000
Pomeroy Scholarship – Kathleen Coughlin	\$ 5,000
Spannaus Scholarship – Kari Strohmaier	\$ 5,000
Small Animal Scholarship – Lukas Wallerich	\$ 5,000
Food Animal Scholarship – Andrew Kryzer	\$ 5,000
James O. Hanson CE Scholarship – Rendina McFadden, DVM	\$ 5,000
Public Health Scholarship - Ruby Hsieh	\$ 5,000
VHA Memorial Scholarship – Chris Thomson	\$ 1,000
Tom Bloom Memorial Scholarship – Chris Thomson	\$ 1,500
Arrowhead Scholarship – Anastasia Johns	\$ 3,000
MVMF Cares – Angie Esselman	\$ 5,000
Ridgewater College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Argosy College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Rochester RCTC (2 @ \$1,000)	\$ 2,000
Globe Education Network (2 @ \$1,000)	\$ 2,000
TOTAL CONTRIBUTIONS 2014 – '15	\$113,525

August 1, 2015 – July 31, 2016

Animal Folks Cruelty Manuals	\$1,000
BART	\$5,000
Carrie Howe (vet. student travel)	\$ 500
Chanhassen High School (feral cat shelters)	\$ 350
CVM, Research Training (summer scholar program)	\$ 500
Equitarian Initiative (Hondurus)	\$ 500
Foundation for Veterinary Dentistry Conference	\$ 6,000
Student Travel Grants	\$ 2,000
Minnesota 4H Fdn.	\$ 3,000
MN FFA Fdn.	\$ 3,000
MN Vet. Med. Reserve Corps	\$ 2,000
MNVPMN (Practice Mgrs. program)	\$ 3,000
Miracle of Birth Exhibit	\$12,500
MVMA CE Committee	\$ 4,500
SIRVS – Student Initiative for Reservation Veterinary Services	\$ 4,000
Surgery Suite Exhibit	\$ 5,000
VetCamp (high school vet. education)	\$ 6,000
SCAVMA Dog Olympics	\$ 2,000
Veterinary History Museum	\$ 500
VeTouch (vet. student clinical training)	\$ 2,000
MVMA/MVMF Student Rep.	\$ 500
Pomeroy Scholarship – Kristin Savaryn	\$ 5,000
Spannaus Scholarship – Helen Sobczynski	\$ 5,000
Food Animal Scholarship – Ashley Swenson	\$ 5,000
James O. Hanson CE Scholarship – Dr. Amalie DiMiceli	\$ 5,000
Public Health Scholarship – David Moe	\$ 5,000
VHA Memorial Scholarship – Carrie Howe	\$ 1,000
Tom Bloom Memorial Scholarship – Daniel Wingert	\$ 1,500
Arrowhead Scholarship – Anastasia Johns	\$ 3,000
MVMF Cares – Marjorie Schleper	\$ 5,000
Academy Pomeroy Scholarship - Jonathan Clayton	\$ 2,500
Companion Animal Scholarship - Daniel Wingert	\$ 5,000
MVMA Leadership Scholarship - Roland Lefebvre	\$ 5,000
Ridgewater College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Argosy College Technician Scholarships (2 @ \$1,000)	\$ 2,000
Rochester RCTC (2 @ \$1,000)	\$ 2,000
Globe Education Network (2 @ \$1,000)	\$ 2,000

\$119,850

TOTAL CONTRIBUTIONS 2015 - '16

August 1, 2016 – July 31, 2017

SCAVMA – SAVMA Symposium	\$ 2,500
SCAVMA – Dog Olympics	\$ 500
SIRVS – Student Initiative for Reservation Veterinary Services	\$ 5,000
VetCamp	\$ 5,000
MVMA Surgery Suite	\$ 5,000
MVMA Continuing Education Committee	\$ 4,500
MN FFA Foundation	\$ 3,000
4-H Sponsorship Request	\$ 3,000
Jacqueline Pieroni (travel grant)	\$ 500
Keystone Collective Pilot Program	\$ 1,000
MN Veterinary Historical Museum	\$ 1,000
MVMRC	\$ 2,000
MVMA MOBC	\$12,500
VeTouch	\$15,000
MVMFCares Scholarship – Anna Peterson	\$ 5,000
Academy Pomeroy Scholarship - Jonathan Clayton	\$ 2,500
Public Health Award - David Moe	\$ 5,000
Margaret Pomeroy Scholarship - Isabelle Eid	\$ 5,000
Arrowhead VMA Scholarship - Helen Sobczynski	\$ 3,000
Spannaus Scholarship - Angie Esselman	\$ 5,000
Companion Animal Scholarship - Carrie Howe	\$ 5,000
Food Animal Scholarship - Alyssa Anderson	\$ 5,000
MVMA Leadership Award - Zach Loppnow	\$ 5,000
Dr. Tom Bloom Memorial - Sarah Knowles	\$ 1,500
VHA Memorial Scholarship - Anastasia Johns	\$ 1,500
James O. Hanson Scholarship - Dr. Amalie DiMiceli	\$ 5,000
MVMF Discretionary Award of Excellence - Andrea Birkland	\$ 2,500
Ridgewater College Technician Scholarships (4 @ \$1,000)	\$ 4,000
Argosy College Technician Scholarships (4 @ \$1,000)	\$ 4,000
TOTAL CONTRIBUTIONS 2016 – '17	\$119,500

<u>August 1, 2017-July 31, 2018</u>		
4H	\$ 3,000	
FFA	\$ 3,000	
MN Veterinary Historical Museum	\$ 500	
MN Veterinary Prescription Monitoring Program	\$12,000	
MN Veterinary Practice Managers Network	\$ 1,000	
Miracle of Birth Center (MOBC)	\$10,000	
MVMA CE Committee	\$ 2,500	
Student AVMA Chapter of MN (SAVMA)	\$ 5,000	
Students Interested in Reservation Veterinary Services (SIRVS)	\$ 5,500	
MVMA Surgery Suite	\$ 5,000	
Veterinary Business Management Association (VBMA)	\$ 2,500	
VetCamp	\$ 5,000	
VeTouch	\$ 4,500	
Discretionary Scholarship for the MVMF	\$ 5,000	
Academy Pomeroy DVM/PhD Scholarship – Patrice Witschen	\$ 2,500	
Arrowhead Veterinary Medical Association Scholarship – Betsy Madole	\$ 3,000	
MVM Foundation Companion Animal Scholarship – Eileen Mesa	\$ 5,000	
MVM Foundation Dr. Tom Bloom Memorial Scholarship – Kristina Hammes	\$ 1,500	
MVM Foundation Food Animal Scholarship – Alyssa Anderson	\$ 5,000	
MVM Foundation James O. Hanson Continuing Education Scholarship-Amalie DiMice	li \$ 5,000	
MVM Foundation Margaret Pomeroy Scholarship – Andrew Keller	\$ 5,000	
MVMA Leadership Award – David Moe	\$ 5,000	
MVMF Cares Scholarship – Emma Bak	\$ 5,000	
MVM Foundation Public Health Scholarship – Therese McNamee	\$ 5,000	
MVM Foundation Spannaus Scholarship – Isaac Secor	\$ 5,000	
MVM Foundation VHA Memorial Scholarship – Rachel Chmelovski	\$ 5,000	
MVMF Discretionary Award of Excellence – Ariel Carlson	\$ 2,500	
Argosy University (2 @ \$1000)	\$ 2,000	
Ridgewater College (2 @ \$1000)	\$ 2,000	
Rochester Community and Technical College (2 @ \$1000)	\$ 2,000	
Dakota County Technical College	\$ 1,000	
Total Contribution 2017-'18	\$126,000	

August 1, 2018-July 31, 2019			
4H		\$3,000	
Animal Care Foundation		\$3,500	
Basic Animal Rescue Training		\$5,800	
College of Vet Med- Dept of Clinical Sciences		\$2,000	
FFA		\$3,000	
MVMA CE Committee		\$3,000	
MVMA Miracle of Birth Center		\$2,500	
MVMA Surgery Suite		\$2,500	
Student AVMA Chapter of MN (SAVMA) – Dog Olympics	.1.6	\$1,000	
Student AVMA Chapter of MN (SAVMA) – Symposium Trav		\$5,000 \$5,000	
Students Interested in Reservation Veterinary Services (SIF	(V5)	\$5,500 \$2,500	
Veterinary Business Management Association (VBMA)			
VetCamp		\$5,000	
Veterinary Medical Reserve Corps		\$1,885	
VeTouch Ridgewater College (3 scholarships at \$1,000 each)		\$4,500 \$3,000	
Rochester Community and Technical College	(3 scholarships at \$1,000 each)	\$3,000	
Dakota County Technical College (3 scholarship at \$1,000)		\$3,000	
Academy Pomeroy DVM/PhD Scholarship-	Marie Gilbertson	\$2,500	
AERC of MN Scholarship-	Emily Dorjath	\$5,000	
Arrowhead Veterinary Medical Association Scholarship-	Sara Davis	\$3,000	
MVM Foundation Companion Animal Scholarship-	Hailey Erickson	\$5,000	
MVM Foundation Dr. Tom Bloom Memorial Scholarship-	Sara Davis	\$1,500	
MVM Foundation Food Animal Scholarship-	Isabelle Eid	\$5,000	
MVM Foundation James O. Hanson Cont. Ed Scholarship-	Helen Jurchisin	\$5,000	
MVM Foundation Margaret Pomeroy Scholarship-	Amanda Mickelson	\$5,000	
MVMA Award- Leadership Award-	Isaac Secor	\$5,000	
MVMA VBMA Student Scholarship-	Michael Congiusta	\$5,000	
MVMF Cares Scholarship-	Kenwyn Shriner	\$5,000	
MVM Foundation Public Health Scholarship-	Mary Liebenstein	\$5,000	
MVM Foundation Spannaus Scholarship-	Andrew Keller	\$5,000	
MVM Foundation VHA Memorial Scholarship-	Alicia Butler	\$5,000	
MVMF Discretionary Award of Excellence-	Taylor Homan	\$2,500	
MVMF Discretionary Award of Excellence-	Theresa McNameee	\$2,500	
ivivivii Discretionary Award of Excellence-	meresa wicivalneee	72,300	
Total Contribution 2018-'19		\$126,685	

August 1, 2019 – July 31, 2020

Basic Animal Rescue Training	\$3,000.00
College of Veterinary Medicine Dental	\$2,000.00
FFA	\$3,000.00
MN Veterinary Medical Reserve Corps	\$3,300.00
MVMA CE Committee	\$3,000.00
MVMA Miracle of Birth Center	\$3,000.00
	\$5,000.00
MVMA Surgery Suite	
SAVMA Dog Olympics	\$1,000.00
SAVMA - Symposium	\$3,500.00
SIRVS	\$18,000.00
U of M Fnd CAVSNET & ARSI	\$5,000.00
VetCamp	\$5,000.00
VeTouch	\$5,000.00
Ridgewater College (3 scholarships at \$1,000 each)	\$3,000.00
Rochester Community and Technical College	
(3 scholarships at \$1,000 each)	\$3,000.00
Dakota County Technical College (3 scholarship at \$1,000)	\$3,000.00
Vermilion Community College	\$2,000.00
Wisconsin Indianhead Technical College	\$1,000.00
Academy Pomeroy DVM/PhD Scholarship	\$2,500.00
AERC Scholarship	\$5,000.00
Arrowhead Veterinary Medical Association Scholarship	\$5,000.00
MVM Foundation Companion Animal Scholarship	\$6,000.00
MVM Foundation Dr. Tom Bloom Memorial Scholarship	\$1,500.00
MVM Foundation Food Animal Scholarship	\$6,000.00
MVM Foundation James O. Hanson Continuing Education Scholarship	\$6,000.00
MVM Foundation Margaret Pomeroy Scholarship	\$6,000.00
MVMA Award- Leadership Award	\$5,000.00
MVMA VBMA Student Scholarship	\$5,000.00
MVMF Cares Scholarship	\$6,000.00
MVM Foundation Public Health Scholarship	\$6,000.00
MVM Foundation Spannaus Scholarship	\$6,000.00
MVM Foundation VHA Memorial Scholarship	\$5,000.00
MVMF Discretionary Award of Excellence	\$2,500.00
Dr. Dick Reierson Veterinary Dental Scholarship	\$12,000.00
Dr. Dick Reierson Veterinary Dental Scholarship	\$12,000.00
Dr. Dick Reierson Veterinary Dental Scholarship	\$12,000.00
Total Contributions 2019-20	\$181,300.00